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X ∼ Binomial(n, θ)

n = 18, θ = 0.3

Prob(X = 8) =

Prob(X = 16) =

Prob(X ≤ 10) =

n = 10, θ = 0.6

Prob(X = 8) =

Prob(X = 0) =

Prob(X > 3) =
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X ∼ Poisson(λ)

λ = 4.7

Prob(X = 4) =

Prob(X > 4) =

Prob(X ≤ 10) =
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Z ∼ Normal(0, 1)

Prob(Z = 2.1) =

Prob(Z > 1.92) =

Prob(Z > b) = 0.05, b =?

Prob(Z < a) = 0.75, a =?
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Xi ∼ Normal(µ, σ2)

X̄ =

∑n
i=1 Xi

n

µ = 2, σ2 = 2

(n = 10) Prob(X̄ = 2) =

(n = 100) Prob(X̄ > 3) =

(n = 50) Prob(X̄ > b) = 0.1, b =?

Erida Gjini (ISEG, U.Lisboa) Revision 28.02.2024 5 / 7



Q ∼ χ2
n

n = 11, θ = 0.6

Prob(Q > q1) = 0.05, q1 =?

Prob(Q < q2) = 0.95, q2 =?

Prob(Q > q3) = 0.25, q3 =?
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T ∼ t(n)(t − student)

n = 12

Prob(T > t1) = 0.025, t1 =?

Prob(T < t2) = 0.95, t2 =?

n = 5

Prob(T < t3) = 0.75, t3 =?
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